8 7 6 5 4 3 2 1

ITEM NO. | PART NUMBER DESCRIPTION QTY.

1 014 WHEEL ASSEMBLY 6 BOLT X 5.5 1

2 0132 INNER TUBE VALVE BUSHING 1

3 0131 R16 INNER TUBE 1

4 0133 TIRE 600-16 1
D
C

3.82 —

B

SECTION A-A

SCALE1:46
UNLESS OTHERWISE SPECIFIED: NAME DATE
DIMENSIONS ARE IN INCHES DRAWN NJB | 01.2017 BOULARD DESIGNS
TOLERANCES: TlTLE
FRACTIONAL + CHECKED :
ANGULAR: MACH+®  BEND *
TWO PLACE DECIMAL  + ENG APPR. W H E EL & Tl R E A
THREE PLACE DECIMAL + MFG APPR. ASS EM B LY
INTERPRET GEOMETRIC QA.
DRAWING IS THE SOLE PROPERTY OF MATERIAL INNER TUBE VALVE BUSHING IS SIZE DWG. NO. REV
L o OPTIONAL REQURED ONLY I 3 013
WITHOUT THE WRITTEN PERMISSION OF NEXT ASSY USED ON THE INNER TUBE VALVE STEM IS
BOULARD DESIGNS INTERNATIONAL IS g
PROHIBITED. APPLICATION DO NOT SCALE DRAWING NOTTAPERED TO 625" OD. SCALE: 1:12 WEIGHT: SHEET 1 OF 1

8 7 6 5 4 3 2 1



SECTION A-A

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
BOULARD DESIGNS INTERNATIONAL. ANY
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF

BOULARD DESIGNS INTERNATIONAL IS
PROHIBITED. APPLICATION

5 4

NEXT ASSY USED ON

UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN INCHES
TOLERANCES:

FRACTIONAL *

ANGULAR: MACH+*  BEND *
TWO PLACE DECIMAL %
THREE PLACE DECIMAL +

INTERPRET GEOMETRIC
TOLERANCING PER:

MATERIAL

RUBBER
FINISH

DO NOT SCALE DRAWING

3

W om, BOULARD DESIGNS

DRAWN NJB 01.2017
CHECKED TITLE:

ENG APPR.

MFG APPR. TlRE 600_] 6

Q.A.

COMMENTS:

FIRESTONE DELUXE CHAMPION SIZE. DWG. NO. REV
COKER TIRE #643510 B 0133

SCALE: 1:6 WEIGHT: SHEET 1 OF 1
2 1



7 6 5 4 3 2 1

ITEM NO. | PART NUMBER DESCRIPTION QTY.
1 011-1 DOUBLE EYE LEAF SPRING ASSEMBLY 1
2 011-2 SPRING HANGER ASSEMBLY FRONT 1
3 011-3 SPRING HANGER ASSEMBLY REAR 1
4 011-4 SHACKLE LINK ASSEMBLY 1
5 011-5 U-BOLT KIT 1

26.0
[NO LOAD]

ORIENT REBOUND CLIPS

TOWARDS FRONT , 25.75
[HANGER WELD DIMENSION] —— 3,46 =
®2.375 12,9 —
—E ‘ 4.9 ;f ®
| TO %
© © o
L L T ] ° T I 4212
© © S

SCALE1:4 UNLESS OTHERWISE SPECIFIED: NAME = DATE
BOULARD DESIGNS

DIMENSIONS ARE IN INCHES DRAWN NJB  01.2017
TOLERANCES: .
FRACTIONAL + CHECKED TITLE:

ANGULAR: MACH:  BEND * [\ 5 APPR.

THREE PLACE DECIVAL + LEAF SPRING ASSEMBLY

MFG APPR.
INTERPRET GEOMETRIC QA.
PROPRIETARY AND CONFIDENTIAL :

THE INFORMATION CONTAINED IN THIS e COMMENTS:

MATERIAL
DRAWING IS THE SOLE PROPERTY OF STEEL/NYLON SIZE DWG. NO. REV
BOULARD DESIGNS INTERNATIONAL. ANY O '| '|
REPRODUCTION IN PART OR AS A WHOLE FINISH
WITHOUT THE WRITTEN PERMISSION OF NEXT ASSY USED ON
BOULARD DESIGNS INTERNATIONAL IS
PROHIBITED. APPLICATION DO NOT SCALE DRAWING SCALE: 1:8 WEIGHT: SHEET 1 OF 1

8 7 6 5 4 3 2 1




SCALE1:1

5 4 3 2
ITEM NO. | PART NUMBER DESCRIPTION QTY.
1 01121 SPRING HANGER FRONT 1
2 010-6 BOLT SHACKLE WET HEX HEAD .438-18 X 2.75 1
3 01123 FLANGE NUT LOCK HEX .438-20 1

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
BOULARD DESIGNS INTERNATIONAL. ANY
REPRODUCTION IN PART OR AS A WHOLE

WITHOUT THE WRITTEN PERMISSION OF NEXT ASSY USED ON
BOULARD DESIGNS INTERNATIONAL IS
PROHIBITED. APPLICATION

5 4

A i ‘

UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN INCHES

TOLERANCES:
FRACTIONAL *

ANGULAR: MACH+*  BEND *
TWO PLACE DECIMAL %
THREE PLACE DECIMAL +

INTERPRET GEOMETRIC
TOLERANCING PER:

MATERIAL
STEEL
FINISH

DO NOT SCALE DRAWING

3

2.0
2.625
} 625 J
~— 24
NAME DATE

DRAWN NJB 01.2017
CHECKED TITLE:
ENG APPR.
MFG APPR.
QA.
COMMENTS:

R1.75

BOULARD DESIGNS
SPRING HANGER

ASSEMBLY

FRONT

SIZE DWG. NO.

B

011-2

SCALE: 1:2 WEIGHT:

1

REV

SHEET 1 OF 1

A



6 5 4 3 2 1
Q\
6.7 \
6.175
5.50 625 = — 2X R1.75
T T
\ \
1 1
w0 ve)
N C\!;
Dﬁ‘ Dﬁ‘
. i . i ~— 2291 —
ol ol ~— 2.0 —=
& & —f 2.0 2X R.49 1813
Zi Zi
3 Z 2X R.25 N m——
O O 2X 1.0 - A
Q) Q)
i i (20)
‘ ‘ 2.625
~—1.89 | 243 ——— = ——2X @ .563 || ||
~—— 2.43 4319 —mMmmm = - -
5 b .563 R1.75
SCALE1:1 =™ 24
FLAT PATTERN
UNLESS OTHERWISE SPECIFIED: NAME DATE
DIMENSIONS ARE IN INCHES DRAWN NJB | 01.2017 BOU LARD DES I GNS
l&?ﬁgﬁfi CHECKED TITLE:
TWO PLACEDECIMAL  » | ENG APPR SPRING HANGER
THREE PLACE DECIMAL + MFG APPR.
INTERPRET GEOMETRIC QA. F R O NT
PROPRIETARY AND CONFIDENTIAL TOLERANCING PER: COMMENTS:
DRAWING 1§ THE SOLE PROPERTY OF AT 1000 CRS | FABRICATE OR USE: U-SPRING | SIZE DWG. NO. REV
R wwGERKzZROCWEL B 01121
WITHOUT THE WRITTEN PERMISSION OF NEXT ASSY USED ON AMERICAN
BOULARD DESIGNS INTERNATIONAL IS
PROHIBITED. APPLICATION DO NOT SCALE DRAWING SCALE: 1:2 WEIGHT: SHEET 1 OF 1
6 5 4 3 2 1



D
- 34—
T T A T —
—— 35|~
o g e —— 3225 ——= 5 =
A A
- ? c
B -
Il
-
@ 094V 281 7/16-20 THREADS
- 1.125

el

SECTION A-A

1/4-28 THREADS

UNLESS OTHERWISE SPECIFIED: NAME = DATE B O U LARD DE S | G N S

DIMENSIONS ARE IN INCHES DRAWN NJB  01.2017
TOLERANCES: .
FRACTIONAL + CHECKED TITLE:

WO PIACE DECIAL + | ENGAPPR BOLT SHACKLE WET HEX A
THREE PLACE DECIMAL * MFG APPR. HEAD 438‘] 8 X 275

INTERPRET GEOMETRIC Q.A.
PROPRIETARY AND CONFIDENTIAL TOLERANCING PER:

THE INFORMATION CONTAINED IN THIS . e COMMENTS:

MATERIAL
DRAWING IS THE SOLE PROPERTY OF STEEL SIZE DWG. NO. REV
BOULARD DESIGNS INTERNATIONAL. ANY O ] 0_6
REPRODUCTION IN PART OR AS A WHOLE FINISH

NEXT ASSY USED ON

WITHOUT THE WRITTEN PERMISSION OF
BOULARD DESIGNS INTERNATIONAL IS
PROHIBITED. APPLICATION DO NOT SCALE DRAWING SCALE: 1:1 WEIGHT: SHEET 1 OF 1

7 6 5 4 3 2 1



8 7 6 5 4 3 2 1

ITEM NO. | PART NUMBER DESCRIPTION QTY.
1 1241 SIDE MARKER BASE 1
2 1243 LIGHT BULB 1156-12V 1
3 1244 KD-856 SIDE MARKER GASKET 1
4 1245 KD-856 SIDE MARKER LENS GASKET 1
5 1246 KD-856 SIDE MARKER LENS RED 1
6 1247 KD-856 SIDE MARKER BEZEL CHROME 1
/ 1248 SCREW THREAD CUTTING PAN HEAD PHILLIPS #6 X .625 2
8 1249 MACHINE SCREW FILLISTER HEAD PHILLIPS #8-32 X 1 2
9 0862 WASHER FLAT #8 .188 ID X .438 OD 2
10 0572 WASHER SPLIT LOCK #8 .174 ID X .307 OD 2
11 0864 NUT HEX #8-32 2
12 1242 BULLET CONNECTOR MALE 16-14 1

INSTALLATION INSTRUCTIONS
DISASSEMBLE ASSEMBLY.

1.
2. INSTALL 1242 BULLET CONNECTOR MALE 16-14 TO 1241 SIDE MARKER BASE WIRE.
3. FIT 1244 KD-856 SIDE MARKER GASKET TO 1241 SIDE MARKER BASE.
4. INSTALL USING 1249, 0862, 0572, AND 0864 HARDWARE. REFER TO ASSEMBLY MANUAL STEPS 9 & 10.
5. INSTALL LIGHT BULB AND REMAINING COMPONENTS.
UNLESS OTHERWISE SPECIFIED: NAME DATE
DIMENSIONS ARE IN INCHES DRAWN NJB 01.2017 BO U LARD D ES I G N S
TOLERANCES: TlTLE
FRACTIONAL # CHECKED :
SIS, 20 oo SIDE MARKER ASSEMBLY
THREE PLACE DECIMAL + MFG APPR. R E D
INTERPRET GEOMETRIC Q.A.
PROPRIETARY AND CONFIDENTIAL TOLERANCING PER: COMMENTS:
e B D LAMP CO. SZE DWG. NO. REV
s SN — o KD-856 RED LENS B 124
WITHOUT THE WRITTEN PERMISSION OF
BOULARD DESIGNS INTERNATIONAL IS
PROHIBITED. APPLICATION DO NOT SCALE DRAWING SCALE: 1:2 WEIGHT: SHEET 1 OF 1

8 7 6 5 4 3 2 1



3

2 1

ITEM NO. | PART NUMBER

DESCRIPTION

QTY.

1 125-1 TAIL LIGHT ASSEMBLY 1
2 125-2 TAIL LIGHT BRACKET ASSEMBLY LEFT 1
3 125-3 TAIL LIGHT GROUND WIRE 12V ASSEMBLY 1

ASSEMBLY INSTRUCTIONS

1.
2.

3.

>

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
BOULARD DESIGNS INTERNATIONAL. ANY
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
BOULARD DESIGNS INTERNATIONAL IS
PROHIBITED.

5

USE DRAWINGS LISTED ABOVE TO SOURCE COMPONENTS AND ASSEMBLIES.
USE DRAWING 1251-1 TAIL LIGHT HOUSING & DOUBLE CONTACT WIRE ASSEMBLY AND MODIFY HOUSING
FOR GROUND WIRE GROMMET.

ASSEMBLE COMPONENTS AND ASSEMBLIES.
USE DRAWING 109 BODY APPEARANCE & COMPONENTS ASSEMBLY SIDE LEFT, INSTALL ONTO TRAILER.

s o BOULARD DESIGNS

NEXT ASSY

APPLICATION

4

UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN INCHES
TOLERANCES:

FRACTIONAL *

ANGULAR: MACH+*  BEND *
TWO PLACE DECIMAL %
THREE PLACE DECIMAL +

INTERPRET GEOMETRIC
TOLERANCING PER:

MATERIAL

FINISH
USED ON

DO NOT SCALE DRAWING

3

zZ/;::ED e TITLE:
TAIL LIGHT & BRACKET
S ASSEMBLY LEFT
commEE SIZE DWG. NO. REV
B 125
SCALE: 1:2 WEIGHT: SHEET 1 OF 2

1

A



